= -
AgER (A AEER®) AT
T 10 2 0.20
FEFEK 20 6 0.30
EXEER 15 4 0.27
hEZEK 10 1 0.10
EXZER 20 1 0.05
RAYXFEHK 5 1 0.20
HEFER 15 8 0.53
BEZEL 10 14 1.40
DIEZER 20 16 0.80
=t 125 53 0.42
XEEZEE % HAEREE =
AZEE (A AZE#(B) (B)/(A)
T 3 0 0.00
HABREK 3 3 1.00
N ERELK 3 0 0.00
EXZER 3 3 1.00
hEZEK 3 0 0.00
EXZER 3 0 0.00
RAYXFEK 3 0 0.00
HEFER 3 1 0.33
BEZEL 3 5 1.67
DIEZER 3 1 0.33
=t 30 13 0.43
ETPHREMEFER FFiHRE e _
AgER (A AEER®) AFES TR
HhIEZER 20 3 0.15
it 20 3 0.15
ETPHREMEFER FHRERE e _
AZER (A AEER®) AFES IR
HhIEZE R 5 0 0.00
it 5 0 0.00
HREEREFHRR SRR I _
AgER (A AEEHR®) AT
HEKIEIRBIBRIFE 12 19 1.58
FE R IR {L P B I 23 34 1.48
it 35 53 1.51
BEERE SRR EEEARTE I _
AgER (A AEEHR®) AT
HEKIEIRBIBRIFE 2 1 0.50
HHEf (L EIN 2 0 0.00
= 4 1 0.25




